
𝑚 = −
𝐴

𝐵
⎯⎯

      𝒙     𝒚

    −2

    −1

       0

       1

      2

      𝒙       𝒚

0

0

Increments of x 
by denominator 
of slope away 
from zero. Or y-
coefficient*. 

𝑦 =
2

3
⎯⎯𝑥 + 1

      𝒙      𝒚

   −3

     0

     3𝑦 = 𝑓(𝑥)

ଵ ଵ

y coordinate x coordinateslope

y-interceptslope

Slope - Intercept

Slope-Point

𝐺𝑒𝑛𝑒𝑟𝑎𝑙/𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑

∗

𝑁𝑜 𝐹𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠
𝑥 𝑡𝑒𝑟𝑚 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒
+𝑥, 𝑦, # = 0∗

𝑦 − 𝑖𝑛𝑡 = ±
𝐶

𝐵
⎯⎯

(0, 𝑏)

𝑆𝑙𝑜𝑝𝑒 = 𝑚 =  
𝑟𝑖𝑠𝑒
𝑟𝑢𝑛⎯⎯⎯⎯=

𝑦ଶ − 𝑦ଵ
𝑥ଶ − 𝑥ଵ
⎯⎯⎯⎯⎯⎯⎯

(𝑥ଵ, 𝑦ଵ)
   (5,4)

(2,4)
(𝑥, 𝑦)

(𝑥ଶ, 𝑦ଶ)
 (−2,3)

Steps : Find Intercepts
𝑦 − 𝑖𝑛𝑡: 𝑥 = 0 (0, 𝑦), 𝑝𝑢𝑡 𝑧𝑒𝑟𝑜 𝑖𝑛 𝑓𝑜𝑟 𝑥 𝑎𝑛𝑑 𝑠𝑜𝑙𝑣𝑒
𝑥 − 𝑖𝑛𝑡: 𝑦 = 0 (𝑥, 0), 𝑝𝑢𝑡 𝑧𝑒𝑟𝑜 𝑖𝑛 𝑓𝑜𝑟 𝑦 𝑎𝑛𝑑 𝑠𝑜𝑙𝑣𝑒

Graph Steps
1) Plot y-int
2) Use Slope
Find Equation
1) Find y-int
2) Find Slope

+1𝑦 =

ଵ ଶ
ଶ

ଵ

   Parallel
Same slope

          Perpendicular 90௢

Negative Reciprocal (Flip) Slope

𝑦 = −
𝐴

𝐵
⎯⎯𝑥 ±

𝐶

𝐵
⎯⎯

(0,3)

(0,1)

(2,0) (4,0)

𝑥 (𝐼𝑛𝑝𝑢𝑡)

𝑦 (𝑂𝑢𝑡𝑝𝑢𝑡)

𝑦 𝑑𝑒𝑝𝑒𝑛𝑑𝑠 𝑜𝑛 𝑥!

101

102

50 55

(2,3)

(𝑥, 𝑦)

(−4, −2)

      Skip
Increments

Graph Steps
1) Plot Point
2) Use Slope
Find Equation
1) Find Point
2) Find Slope

𝑥

𝑦

𝑥

𝑦𝑚 = 0

𝑚 = 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑

(1,2) (3,2)
𝑦 = 2 (1,4)

(1,2)

𝑥 = 1

Draw a Graph and Count!

𝑦

𝑥

𝑚 == 𝑚

      𝑥 y

      0       𝑏

      1       3

      2       5

∆𝑦

∆𝑥
⎯⎯⎯ 𝐶𝑜𝑛𝑠𝑖𝑠𝑡𝑒𝑛𝑡∗

𝑦 =
∆𝑦

∆𝑥
⎯⎯⎯𝑥 + 𝑏

∆𝑥

∆𝑥

∆𝑦

∆𝑦

𝑦 = 𝑚𝑥 + 𝑏

Up to
Right

Down to
Right

(𝑥ଵ, 𝑦ଵ)
  (3,5)

TOV

Slope

Table of Values

Find Equation

(𝑥ଵ, 𝑦ଵ)

(𝑥ଶ, 𝑦ଶ)

𝑦 =
2

1
⎯⎯𝑥 + 1

𝑦 = 𝑏; 𝑥 = 0
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